SmallRig

Cage Kit for Atomos Ninja Series
Atomos Ninja RFIERIEEM

Operating Instruction / #&{F#55|




- Thank you for purchasing SmallRig's product.
RRBHERIEE SmallRig M.

- Please read this Operating Instruction carefully.
ERAFmZE, BFAMEREES.

- Please follow the safety warnings.

EEREE SR TERERREESINMEES.

In the Box / 1355

Cage x1 RRIE x1
HDMI & USB-C Cable Clamp  x HDMI & USB-C #&k  x 1

1/4"-20 Screws x2 1/4"-20 1822 x2
M3 Screws x4 M3 1842 x4
Allen Wrench x2 NERF x2
Sunhood x1 pliiy =2 x1
Silicon Case x1 BERE x1
Wipe x1 SRR x1
Tissue x1 FHM x1
Dust cloth x1 i x1
Dust Absorber x1 RN x1
Anti-twist Locating Plate x2 BAREEENL A x2
Flat-Head Screwdriver %1 —FIRF x1
Screen Protector x1 REFPE x1
Operating Instruction x1 BB x1

Guarantee Card x1 RE+x x1




Cage Product Details / {ERIEF RT3

(D 1/4"-20 Threaded Hole
1/4"-20 82407,

(3) NATO Rail

i=ES

(® Strap Slot
B / BmtEn

(2)1/4" 0 3/8" Screw Adapter
1/4"-3/8" $4RIZ 08

(&) Cold Shoe Mount
R

(&) Fixed Knob
[EEHEEH




Cage Installation / {ABIER ¥
Step1: Put the monitor into the cage from front to the back.
% BEUSENIEERARRIE.,

* The package does not
include the monitor

* BMENSFERN

Step2: Securely fasten the monitor to the cage using two M3 screws
on the left side and one 1/4"-20 screw on the top.

BH BIENFHEMBLITRER1/4"-20 1R8BS RRIE
BEEE.,

= The package does not
include the monitor

* BMENS RSN




HDMI & USB-C Cable Clamp Installation / &R &£

Step1: Align the fixed knob with the M4 screw hole and tighten the
fixed cable clamp.
F—% BUEERHENEMS BLANEETELE,

* The package does not
include the monitor

*BAENS RSN

Step2: Insert the wire and tighten it with the thumbscrews.
BH BALY, BIFITRLHEEELEM,

* The package does not
include the monitor

*BAENS RSN




Silicon Case Installation / il ERELE
Step1: Remove the 1/4"-3/8" screw adapter at the top and bottom of
the monitor using flat-head screwdriver.

F—% BU—FIRFIEEMHENSTRERREELY 1/4"-3/8" HiIR1E
BT,

* The package does not
include the monitor

* LSS R 4}

Step?2: Place the silicone sleeve on the monitor.
B8 BEREEEEMRL.

* The package does not
include the monitor
* BUBENSERE




Step3: Insert the anti-skid locating plate, the 1/4" to 3/8" screw adapter,
and secure it in place by tightening it with a flat-head wrench.

B=% MABREREMR . 1/4'-3/8" FHRIRE, B —FRFEH
BEEE,

* The package does not
include the monitor

*BEMENS RSN

Specifications / X RE%

Compatibility Atomos Ninja V / Ninja V+/ Ninja /
FREM Ninja Ultra

Product Dimensions 7.4x4.4x1.0in

PR 187.8x110.8 x 26.1mm

Product Weight 79+0.20z

TRES 225.0+5.0g

Material (s) Aluminum Alloy, Stainless Steel, Nylon,

Silica Gel, Tempered Glass

ERME 2ae. AEN. BR. BR. RLEE




HUTIRE: GB/T 26572-2011

C€ RoHS ¥ ® &

Made in China
PEF)E

LQ-P1272-18

PAP

hi¢




